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3a4yeM COXpaHATb poaHOM
A3bIK B 3NOXYy rnob6anunsauumn?




== [noSbanusauuns

* [lpuxopAT HOBLIE
cnoBa u3 EBponbl

 Hapogbl npuberaroT
K aKkKTUBHOMY
MCMNOSIb30BaHUIO
PyCCKOro sidblka
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3a4yeM COXpaHATb poaHOMU

A3bIK
e CoxpaHUTb  MoopepxuBatb
HauUuOHarnbHoOe TBOpPYECTBO
CaMOCO3HaHue ° COXpaHVlTb
e CoXxpaHUTb OCHOBBbI 3THNUYECKue naem u
cdenepaTtmBHOro LLeHHOCTU HapoaoB,
rocypapcTtBa He NMeroLLUX cCBoe

rocyaapcTBo
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3a4yemM BHeApPATb PyCCKUN

A3bIK
«TonbKo 4yepes * [lpepaorBpaTUTHL
PYCCKUN A3bIK HaLUW cenapaTucTckue
nucartenu BbIWN Ha HacTpoOeHus
MUPOBYIO apeHYy». 3THOCOB,
(EaLIJKVIpCKVIﬁ STHN3AUNIO NCTOPUUA

nucartenb A. M.

MycTtaduH)
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